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0 oolAH 22 Mg 2 200,000& = 703 14,000
301 LptR M3 2,240 2,240 0
09 #HAIAHIXI& 2 2,240 2,240 0
O MNESAHALH SAME 8,0008 = 49 = 703 2,240
307 2Iz2t0| & 1,005,000 960,000 45,000
05 QIZ2tREF 2 1,005,000 960,000 45,000
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M |TIIgel DTS

el =MDYBE B 2 (el @2)
2 S 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O AME fIg22l 1,005,000,000& * 14 1,005,000
401 Al HIZ 201 8] 503,150 1,006, 300 A 503,150
01 A& HI 500,000 1,000,000 A 500,000
O st MAIANES LAl
500,000,000& * 14! 500,000
03 Al S THHI 3,150 6,300 A 3,150
O st MAIANES WAl
500,000,000 * 0.63/100 3,150
405 XHoHE S HI 46,880 46,880 0
01 AL ESHSH 44,000 44,000 0
0 HESY4Y 2= Y
22,000,000& * 24! 44,000
02 S A=l 2,880 2,880 0
O nsted 2 12,0004 * 208 = 123 2,880
Zoltst OIS 100,000 106,920 A 6,920
201 Let24d] 55,060 55,800 AT40
01 At 22l 55,060 55,800 AT740
[ et=2Hl 5,020
O tstua 2123 M
300& * 1,0008 = 43| 1,200
O Botma U BASE B4 A
100,000& = 45 « 43| 1,600
O #JndeE 7=
16,000& * 53 » 12& 960
O g2 N 1,260,000 = 14! 1,260
024 =% 50,040
O dJlmstZ= 08 LA
60,000& = 43| = 11088t ~ 123 31,680
O tMtstZz Ol 2dAZE
90,000& = 32| * 3oHEt » 123 9,720
O Wsdgm=z0d 2AME
60,000& = 43| * 30HEr » 123 8,640
206 M= Hl 44,940 48,720 A 3,780
01 M= 4l 44,940 48,720 A 3,780
O FJdstZ208 MW=t
5,000& = 10H = 43| » 11048 « 123 26,400
O ¢gddstZ=2 03 HEY|
7,000& = 159 = 33| * 30HEF « 128 11,340
O SSdMEZ0d HEY|
5,000& = 109 = 43| = 30HEF « 128 7,200
PorAMNESER MHOIEHAE(EX) 200,000 200,000 0
< 60,000
Al 140,000
201 Let24d] 200,000 200,000 0
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SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
= 60,000
Al 140,000
03 Al H H| 200,000 200,000 0
[0 M9gl &= PetaANESE AHIOIEHN
200,000,000& = 1Al 200,000
& 60,000
Al 140,000
=AMQO|cHstat DSEH AL F= & 20,000 41,000 A 21,000
201 LBt | 20,000 41,000 A 21,000
03 A2 H| 20,000 41,000 A 21,000
[0 psro] Y sAb 20,000,000 = 14l 20,000
SetatabAl 2 (XHAN) 133,000 53,000 80,000
201 et Y| 133,000 53,000 80,000
01 AP 22| d| 3,000 3,000 0
0 Sstass EE8E 2
10,0002 » 300K 3,000
03 A2 HH| 130,000 50,000 80,000
0 st 87 A4S RL4N 29
40,000,000 = 14! 40,000
[0 22 HolH=2eY 849
50,000,000 * 14! 50,000
[0 Z0t2t= 1St OF2tdl 0|
40,000,000 * 14! 40,000
ZO| NSRS EAAIY (B X) 50,000 50,000 0
& 15,000
Al 35,000
201 LBt 9| 50,000 50,000 0
& 15,000
Al 35,000
03 Al HH| 50,000 50,000 0
[0 =ot& Mol HIAEIY &AL
50,000,000 * 14! 50,000
& 15,000
Al 35,000
S28 Maker & ECH AMAI(EX) 50,000 50,000 0
& 15,000
Al 35,000
201 LBt Y| 50,000 50,000 0
&< 15,000
Al 35,000
03 A2 H HI 50,000 50,000 0
[0 228 Maker& &t QAL
50,000,000 = 14! 50,000
& 15,000
Al 35,000




A 2018
7018 D=3

& SE2HLE 22 CEERED)
(o
SA BB (SH) - NRAY - B Ol &F o4 %@ﬁ HRE2
S 2 HAE 22l 2,795,806 4,085,929 N1,290,123
CCTV S22 MAH 24 2,741,366 4,031,489 N1,290, 123
201 et d| 1,543,460 1,474,660 68,800
01 AP 2t 2| bl 20,820 18,020 2,800
[0 Let==H| 11,900
O CCTVEE2MAEH E22 MH
400,000& = 23] 800
O CCTVEE2MAEH EH 2
300,000 * 3CH = 43| 3,600
O CCTVEE 2 MAEH A28 2
150,000 * 17 * 23| 5,100
O Z2Hed 2248: S0
20,000& x 508 * 13| 1,000
O ZHed dAsisz 257Y
50,000& = 28Y 1,400
0 dxzs 2,880
O 2AD &xz2 190,000 * 12& 2,280
O CCTVEE 2 MAE Hz=D| LXt
50,000 * 1§ = 12&€ 600
0 &4l 1,120
O CCTVEE2MAE S2E/A]S SHAE
70,000 * 4H x 43| 1,120
[ o= 50,000& = 28Y 1,400
O 2 &l 3,520
O SHAMME Y2=7
8,000& * 4% x 110¢ 3,520
02 B232%H| 1,522,640 1,456,640 66,000
0 2222 < MA 1,070,640
O CCTV MO|122 9,000,000 = 12& 108,000
O CCTV 2368 AMEas
100,000 = 8003/ & = 12& 960,000
O CCTV oY 3d AtEZ
220,000 = 128 2,640
[ A& Z&H X4l 452,000
O CcCTv(erd , o2loles, olses) A
Z2=H| 4,000,000,000& = 5/100 200,000
O SS2HAH ANAE X244
3,000,000,000& = 5/100 150,000
O ADIEAE SE$EUHE RAEZH|
1,300,000,000& * 6/100 78,000
O WEAHCCTV KX E 44l
20,000,000& * 14! 20,000
O ZH&EE "HeY HA 4,000,000& = 1Al 4,000
202 o4 | 8,000 7,760 240
01 2Ll 8,000 7,760 240
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[0 ¢HEE CCTV aXIAY =8
20,000& = 4% = 35¢ 2,800
O coTvas olage =z
20,0003 * 49H » 25 2,000
O ZHAE SAA -2 S&X 28
80,000& = 4% » 3« 960
O 2HeIAs 80,000& = 28%H * 13| 2,240
206 M= Hl 1,000 1,000 0
01 MHZ 4l 1,000 1,000 0
[JCCTV &XI8 M- 1,000,000& * 14 1,000
401 AIEHI L 2CHEI 1,088,906 1,053,780 35,126
01 A& HI 1,085,000 1,050,000 35,000
0 gg& etV &xl 800,000,000& * 14! 800,000
O S8 MDD 2Al CCTV & X
50,000,000& * 14l 50,000
0O ADLE A A" RH
100,000,000& * 14 100,000
[J CCTV2 G OHLHLED EX® AX
35,000,000& * 14! 35,000
O SAUEA 2 Z2ESEH wH
100,000,000& * 14 100,000
03 AlE S THHI 3,906 3,780 126
[J CCTV Xl Al =204l
1,085,000,000& = 0.36/100 3,906
405 RHoHF S HI 100,000 0 100,000
01 AL EZFH S 100,000 0 100,000
0O SEZMAdH W g 2 wiHl
100,000,000& * 14 100,000
AODEZ AN(U-City) XOtY 29 54,440 54,440 0
201 €24 54,440 54,440 0
01 At 22l 2,400 2,400 0
0O get=34l 2,400
O HATA SM2A POIAH B
200,000& » 12& 2,400
02 2324l 52,040 52,040 0
03322 2 WA 32,040
O AT Al ADEZ Al (u-city) I &AIZ2
2,670,000& ~ 12& 32,040
O A€ EHI s Xl 20,000
O ADESA(u-—city) MItSAY X 22
gl 10,000,000& * 14! 10,000
O AMESA(u-—city)dtH, AECX, WE
A3, AZEYNH S22yl 10,000
10,000,000& * 14




SA: "EIEY
M HY2IAZH(FEIED)
chel: ol 2y (S &2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
HE2LAZH(FEIE D) 1,767,098 163,827 1,603,271
ol 2d | 1,761,698 158,427 1,603,271
el 2AH(HEI& D) 1,761,698 158,427 1,603,271
101 @124l 1,637,538 158,427 1,479,111
01 2= 145,488 144,024 1,464
O =2 R=E 145,488
O AN2ez2e=g
12,1243 = 208 » 50AI2H « 128 145,488
02 JIEtE B == 14,549 14,403 146
O =24 14,549
O NAe2R4g
12,1243 = 2% = 50AI2t = 128 14,549
03 ZRE(RIAHA)2Z2NHES 1,477,501 0 1,477,501
0O Sg2Mdg 224 22 1,394,313
O Jles 1,940,720& » 28%H » 12& 652,082
O Az A 130,000& = 28% » 12& 43,680
A0 3 (43, EEFOHHI)
2,070,720& = 28 * 500% 289,901
O z2f=E
14,8603 = 28% = 10AI2t = 128 49,930
O s2z2f% 118,890& * 28%H » 58« 193,078
O Az
4,950% * 28 * 65AI2F » 123 108,108
O ox=< 79,2703 * 28H » 15¢ 33,294
O =g 24,240
o= ()
40,000& = 15% = 128 7,200
=g OIEDIHE)
20,000& = 169 » 12& 3,840
NEL(EM)
60,000& = 109 = 12& 7,200
HEL(HMOI=Z)
100,000& = 5H = 12& 6,000
O Mdatued 225 a2Y 83,188
O Jles 1,994,320& » 2% » 128 47,864
O HAUgAH 130,000& » 29  12& 3,120
O &0z (43 E’é 45 0tdl)
124,320& » 2% x 500% 21,244
O 2B224Y
15,2503 = 2% = 20AI2t = 12& 7,320
O AdAxt=< 81,320& = 2 « 15¢ 2,440
O H=s=¢ 1,200
=L ()
40,0002 * 1H * 123 480
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